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0 ≤ d1 ≤  1 km (this includes all distances for pairs of points separated by 1 km in the east and north directions)

east  

(65)2 + (55)2 + (54)2 + 

+ (47)2 + (75)2 + (52)2 +

+ (55)2 + (53)2 + (33)2 +

+ (32)2 + (22)2 + (23)2 = 30
north 

(64)2 + (45)2 + (53)2 + 

+ (57)2 + (75)2 + (52)2 +

+ (55)2 + (53)2 + (32)2 +

+ (42)2 + (23)2 + (33)2 = 36

There are 24 pairs, thus

(d1) = 30+36/(2×24) = 1.375
1 < d2 ≤  2 km (this includes all distances for pairs of points separated by 2 km in the east and north directions and all diagonal pairs separated by 1.41 km)
east   

(65)2 + (54)2 + 

+ (45)2 + (72)2 +

+ (53)2 + (53)2 +

+ (32)2 + (23)2 = 38

north  

(65)2 + (43)2 + 

+ (55)2 + (72)2 +

+ (53)2 + (52)2 +

+ (43)2 + (23)2 = 42

north-east  

(67)2 + (73)2 + (3-3)2+

+ (55)2 + (53)2 +

+ (45)2 + (52)2 +
+ (52)2 +

+ (52)2  = 49

south-west 

(45)2 + (55)2 + (5-3)2+

+ (57)2 + (75)2 +

+ (23)2 + (32)2 +
+ (54)2 +

+ (32)2  = 17

There are 34 pairs, thus

(d2) = 38+ 42 +49 +17/(2×34) = 2.147
2 < d3 ≤  3 km (this includes all distances for pairs of points separated by 3 km in east and north direction and all diagonal pairs separated by 2.82 km)
east   (64)2 + (42)2 + (53)2 + (33)2  = 12

north (63)2 + (52)2 + (52)2 + (43)2  = 28

north-east (63)2 + (73)2 + (5-3)2+ (4)2  = 33

south-west (45)2 + (53)2 + (2-2)2 + (5)2  = 5

There are 16 pairs, thus

(d3) = 12+ 28 +33 +9/(2×16) = 2.437
4 < d4 ≤  5 km (this includes two distances for the main diagonal pairs separated by 4.23 km)
(63)2 = 9

(43)2 = 1

There are 2 pairs, thus

(d4) = 9+ 1/(2×2) = 2.500
Summary of the semivariogram calculations 

	Interval of d
	Number of pairs
	(d)

	0.00-1.00
	24
	1.375

	1.01-2.00
	34
	2.147

	2.01-3.00
	16
	2.437

	4.01-5.00
	2
	2.500


